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1)

|dentify the value of s if the point (-5, s) lies on the side of the triangle which
passes through the points (1, 1) and (-8, 4).

a) s=1 b) s=3 c) s=6 d s=-2

2) Thediagonal of the square is passing through the points (8, 2) and (4, -2). Which
of the following is the value of w if (w, 0) is the intersecting point of the diagonals?

3) Thediagonal of (3, 8). What is the
value of u, if the 1)?
a) u=5 Gain complete access to the largest d) u=-4

4) The longer diagfcollection of worksheets in all subjects!§, o) and (1, 2). Identify
the value of p if

Not 3 member

5) The diameter of gain complete ). For which value of
k, the point (-1, dccess,
a) k=4 www.mathworksheets4kids.com d) k=3

6) Aside AB of a pi ), 1) and (1, 6). Identify
the value of m if the point (m, 3) lies on AB.
a) m=0 b) m=8 ¢) m=-5 d m=4

7)  Aside MN of the trapezoid has the end points (-4, -1) and (-6, -3). Which of the
following is the value of v, if the point (-5, v) lies on MN?
a) v=2 b) v=1 c) v=-2 d v=-5
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